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Y13 Applied Chapter 2—Probability
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PRUBF\B"_”Y \WHIAT DO 1 NETD TO KNOW A

4 L['l‘ WORDS & DIFINITIONS :

| Experiment A repeatable process that results |
n a number of oufcomes.
2 Event A colection of one or more oufcomes.

3 Sample Space The set of all possicle

oufcomes. £ is the urversadl set.

Probabilities of al possible oufcomes add To |
Probabiity values must be between O and |

Intersection A B —> A AID B happen
Union A B — A OR B OR BOTH happen

'|.

Y. Mutualy Exclusive Events that have no mﬂ of Ais A" = 10T A
oufcomes in common, PIA) = 1—P(A)

5. Independent When events have no effect on Mutualy Exclusive events:
o (A L B) = P(A) + PIB)

b. Infersection When two or move events dl =
nhappen Independent Events

7. Union When one or both events happen

8 Complement When an event does not happen. 1 P(A ~ B) = P(A) x PIB)
b !

Probabiity of B, given A has occurred:
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s B | Al
/ TRIE DIACRAMS * | For independent events
1 You can use free dogroms to show the cuteome of 1 : P(A | B) = P(A | B’) = P(A)
I 2 or more successive events i dximal
| S, ' formuoebock
: | 1 PLALB) = PA)  PBI - PIA N B)

£

E .rrut;:h ALONG the branches 1 | E ' DB | A) « PIA ~ B ,,
\ Add dl the fovourcble fral probabifes SN P(A) 7’
+" VNN DIACRAMS I

I

: Venn dograms can be used fo show either probabiifies or The number of outcomes
''nlA) is the number of outcomes whie P(A) is the probability of an oufcome

| ' eg nlAces) = 4 PlAce) = 4/52

- Use cross hatch shadng to help you work out probabilifies.
\ Focus on one condition af a time, ignorng the other condfion completely when uou shode.

If P(A) = // and P(B) = \\
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E f’”_“:n:':
! {‘L‘“‘ l{" PIAB)= #
| f——p PAUR)= // + \\ + # :




